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FE- i B R R e, BRATVT LA o R 35 i3 A e A B, AT R S ER S
B g0, HEEE I FIRRRE S SRS 5 WA SR F =
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(1000 + 2) 4 (1001 +4) + (1002 + 6) + === 4 (1050 + 102) =2
B L= 1002+ 1005+ 1008 4 --- + 1152
= (1002 4+1152) X 51 =2
= 2154 X512
= 1077 x 51
= 54927.
I 99999 X 22222 4 33333 X 33334 =9
& = 33333 X 3 X 22222 + 33333 X 33334
= 33333 X (3 X 22222 + 33334)
= 33333 X 100000
, = 3333300000.
DK} 66666 X 10001 + 66666 X 6666 = ?
& 5= 11111 X 6 X 10001 + 11111 X 6 X 6666
= 11111 X (6 X 10001 + 6 X 6666)
= 11111 X [6 X (10001 + 6666)]
= 11111 X 100002
= 1111122222.
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9039030 + 43043 =2
g JHEs\= (10010 X 903) = (1001 X 43)
= (10010 =+ 1001) X (903 —43)
=10x21
= 210.
19991999 X 19991998 — 19992000 X 19991997 =9
= 19991999 X 19991998 — (19991999 X 19991997 - 19991997)
= 19991999 X 19991998 — 19991999 X 19991997 — 19991997
= 19991999 X (19991998 — 19991997) — 19991997
= 19991999 — 19991997
= 2.
(873 X 477 —198) = (476 X 874 +199) =2
@ JHR= (873 X476 4873 —198) + (874 X 476 +199)
= (873 X 476 +675) + (874 X 476 + 199)
= (874 X 476 — 476 + 675) — (874 X 476 -+ 199)
= (874 X 476 +199) = (874 X 476 + 199)
= 1.
6273 + 9999 X 9999 +4- 3726 =7
R R = (62734 3726) + 9999 X 9999
= 9999 + 9999 X 9999
= 9999 X (1 4+ 9999)
= 99990000.
EIEl 12345678987 — 1234567897 X 1234567899 —?
M R = 12345678987 — (1234567898 — 1) X (1234567898 4 1)
= 1234567898? — (12345678982 — 1)
=1
654321 X 123456 — 654322 X 123455 —2
B = 654321 X 123456 — (654321 X 123455 4 123455)
= 654321 X 123456 — 654321 X 123455 — 123455
= 654321 X 1 — 123455
= 530866.
(1911 + 1912 + 1913 + == + 2044 + 2045) ~+ (1956 + 1957 +
1958 + «+- + 2000) =2
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B RER=[(191142045) x 135 = 2] + [ (1956 + 2000) X 45 = 2]
= 3.
(ZX3X44+4X6X8+++~+200X300X400) = (1X2X3+2X
4 X 64+ 100X 200 X 300) =7
B ER= (24424 X 8+ -+ + 24 % 1000000) = (6 46 X § + ++*
+ 6 X 1000000
=246
=4 ‘
2772+ 28 + 34965 + 35 =27
M = (2800 — 28) = 28 + (35000 — 35) = 35
= 2800 < 28 — 28 < 28 + 35000 <+ 35 — 35 = 35
= 100 — 141000 — 1

= 1098,
IRE]  11---122-+-2 = 33++:3 =7
10041 10042 10043

8 A= (1121 220042 = 11+++1) =3

10041 10042 1004~1
= 100---02 =3
=
9940
= 33-++34,
9943
CIBEY (123456 +234561 1345612456123 4561234 +-612345) =77 =9
B OERX=111111X A +24+34+4+546) <77
=111111 x21 -7 =11
= 111111 x 3 =11

= 333333 =11
= 30303.
2000 X 1999 — 1999 X 1998 + 1998 X 1997 — 1997 X 1996 4 - 42
X1=1

R = 1999 X (2000 — 1998) + 1997 X (1998 — 1996) + e
+3XU-2)+2x1
=1999 X 2+1997 X 2+ +++ 43X 242
= (199941997 + -« +34+1) X 2
= (1999 +1) X 1000+ 2 x 2
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— 2000 X 1000
= 2000000.
(1000+1234-234) X (123+234-+345) — (1000+123+234-+345)
X (123 +234) =7
R = 1000 X (1234 234 +345) 4 (123 4 234) X (1234234
+345) — 1000 X (123 + 234) — (123 + 234)
X (123 + 234 + 345)
= 1000 X (123 4 234 + 345) — 1000 X (123 + 234)
= 1000 X (123 + 234 + 345 — 123 — 234)
= 1000 X 345
— 345000.
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1. (2002+2002) x5 =
2, 14(11x111)—1111 = .
3. THIEA%. 0. 0908.0. 9008, 0. 0098, 0. 098, 0. 908 1, £ /Ny ¥
2= .
4 £—T—FH . —F—F . —F—8. X AN EZFE R a%
Fi . ‘
5. .
53] 45 13 16
B % 60 70 25 64
= 1050 455 625
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6. I
W 361 1125 3333
B K 19 12 14
7 45 12 303 143
7. EE.
T G I - ¢ il BEE | W =
6.9 25.83 8.04 1. 907
10. 96 20 9 6. 582
3.79 13.18 0.798 2.24

8. 0.140.0140.001 =
9. 0.2X0.3x0.4=
10. 10+0.02 = .
11. 0.8 X (0.3+0.7) =
12. 9+-13+13+-9+11+13414+946+13 =
—.WBEA
13. 3K 1.2121212 + 3. 030303 AY{A.
14, R14+2—3+4—54+6—7+++~+2000— 2001 4 2002 AI{H.

B %
—. =&
L 9+8—7X6+54+4—3X2+1= .
2. 2—4+6—8+10— 12+ -+ 4 1998 — 2000 + 2002 =
3. 2422422242222+ 22222 =
4. 2000 X 2002 = 2000 - 2001 X
5. 33333 X 666 = .
6. 187 +13—25+13—71+13 =
7. 1440X572--288= .
8. F 20 NI AL, IR WA A ABAERYAETF 1K, B4
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o. FFRE# e HHERI AR 20 < 42,30 < 82,31 < 122,32 < 162, --- B}
24,55 S0 MRERRHESERN

10. 7 X 11 X579 X 13 =

11. 111111 -+1111 X 3333 =

12. 9999 X 9999=

—. mER

13, R1+2—-3—445+6—7—8+9+--- 42001 + 2002 — 2003 fHI{H.

14, BfPp— QM1 T, BGR 2 T, ABLSHE, T A8 12 T, i S b
BT IRA—BRILRELST?

C %

— AZH

11422433+ +99 =

2.4.6,+--.2002 izwmwmﬁw

1000 + 1001 + 1002 + +++ 4 2002 =

S +(7+1D+(11+13) +(13+15) +(15+17) +(17+19) = (19 +21)

el

144 =156 X 13 =
72X 37489 x 24 =
454500 = 1125 =
2999 4999 X 9999 =
15000 +- 125 =5 = .
10. 0.1+40.01 40,0014 ++» =1~
=, mER
11. 3K 5+ 55+ 555 - == 4 5555555555 F{H.
12 P vX2=w—3=2x+4 =y—5=246, XA M v.w.z.y flz
PR — Ak
13. BRHTERIRWLIE, BRI 2B EHMAEE 15, £t HET
780 5, AR A XABEIH BRI
14, 3R 77 X 39 + 143 X 56 4+ 91 X 99 f1{4.

A A




529 1% m M

= 3=
F RN PR, — R IE R P &R RATT: BRI S XFARAE
PORR L BERATRIX PR 3R L. A RN AR AT LR -
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M — BN = BRH

B ZBA G S0 960 T, BLAH R EEFTAF SRR 2 B EERY 2
CHELNAERCY. 225 1 E N
g7 }960"3

R ey | O ' '
RZAHEW 2 15, TR Z R EH !
TR 1A, TR R YR 2 RGN 1 FiR). 2R B
EHAE (1 +2), BIFS5HC R Y 83 960 Mixt i, F 960 (1+4-2)
TR 1 A8, B Z A FE AR, TSR 1 -0 B M

)3 960 - (1 42) = 960 = 3 = 320(mi).

320 X 2 = 640(I),
%, HQPEEAFH 640 M, Z QAR 320 L
R A AU, LSRR 2t 1800 4R , Horh RUR O BUSCR S R
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AR RS AR R 2 157 “ B P AR SRR B 3 17,
AL E SRR AREOR 1 A 8, A A SR RSO 2 158K, B RO ARSI 3 1%
$(,1800 BRIEH = (1+2+3DR%K.

& 1800 =~ (1 +2+43) = 1800 =6 == 300(H).

300 X 2 = 600(#).
300 X 3 = 900 ().

5 R 300 B ZURA 600 B, BERR 900 KR

2R B A S BR ROBOR HERR IO 3 A%, IEERM0 FRUOBURHERRIY 5 4%, BERAN
WEERIL 72 KL, o] ZRNERAG £/ H 7

RREERTPI N T HERR B FUBOR: 1 AR5 B4 BRI HAOR 3
BB TR LU 5 4550 B0 IS 72 SR BRI R A 3L 10 R B R A%
B (3+5).

)3 72+ (3+45) =72+8 = 9(H),

9% 3=27(H).
9 X5 =45(H).

B HEERE 9 RLREE 27 RLEERA 45 2.

THARILE 207 TR, B E R RS T 3, B HME
BEEZHE 2 5, B SR E R T

EXl O SmMEERE THW A, B IR ERES By 2 .
FREREE — A AT RIS R0 T R LU AR RS AN SRR E = e
B T B LRSS R EBRAE  BRS FHE S S HR  E R 1 BB AR
MERR 2 580, B — i E R 2 (2 X )%

R 207 +-(1+2+2x3)=207=9

= 23(F-%0).
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" (244 +12) = (1+7) = 256 = 8 = 32(£).
32X 7 —12 = 224 — 12 = 212(£).
B WHLIRE 32 8, HRE 212 &.
ﬁ] 3 AKCORIEE R R AR 846 Tow BRI EFAELIERK 2 4%
RE 17 T3, 2RMEREERY 3/FL 1 T, MiaXEELLSTR?
WP 3,846 THBE 1T 0

FR.OABERANERRERM 2 %17 f(}‘é

ffAGO—IDFHME 1L F3L, FE | 6T
AR EREERN S e, LN

(846 — 17+ 11) F 53 % B By &5 5 A w3

(1+2-R3)45.

B (846 —17+11) = (1+2+3) = 840 =6 = 140(F3).
140 X 2417 = 297(F3%).
% BREE 297 T
PAREZC I 88 F32, IR FHI 15 TIEMA L. A
EREFHE 3G, (MRG0T
PIARZRMJLE 88 T 5w, WHIAREL 15 TR A LA, AR nER
AL 88 T30, X if ZAR M B2 A 3 4%, 384 88+ (1+3) TSR thBLZE B 48
MR EE. BEPARH MR EFHEE 15 TR R PR WE
B.EAERERZHENZHER.
R 88+ (143) = 88 =4 = 22(F ).
22415 = 37(F5).
88 — 37 = 51(F ).
& BORMRAB RN 37 T30, 5B X 51 T3
R ETREIA S 109 4, inFOH T 15 AMA LR, 4
ERBIEFR TN 345, MFZREKRH HE P40
JOR b R RIRSEAE 45 109 A, b FEH 15 A4, BIFESEA (109+
15, Xy 2B BIEGFRTZH 3 5, H (109 +15) + (14-3) AR HBET
BRBHARL W RIFR TR BHAS. BN T Er4a58a 24, Bk
/9 109 AW 2R K T 2 A4 30, SRRk HR A3t
B (1094-15) - (1+3) = 124 — 4 = 31(&).
109 — 31 = 78(4).
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Y Bk vk 1500 T, Z KA K 1200 Fr, A4 K IBIRAZ K
W 25 FHK , [ 22048 E Z K MK R B K ML) 2 457

F 7k b 2 7K 36 7K (1500 4 12000 Ft, B 7K s (¥ K 161 27K s »
A B, 4 2K R AR B Kt 2 AR S K M i R 1 A3 7T (1500
11200) = (14 2) B BAE B K 7K » R IRk B 7K o ) 7K 0 25 BRAEE FR K it
AT 3Rt K A Z K M SLFH K » TR A /N B K A Z K e 25 FH
K BRAT 3R 4 E 7K T B 7K A 27K 28k JL 4 b AT Z K i Y 7K R K e I

2 4%
3

%

(1500 4+ 1200) = (142) = 2700 =3 = 900(FP).
(1500 — 900) = 25 = 600 = 25 = 24(435).
24 S8 G , 7K K 2 B K 2 5.
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